STUDENT NAME ___________________________________
DATE_________________
	
	Number of salmon caught
	Number of bycatch caught

	Trial 1
	
	

	Trial 2
	
	

	Trial 3
	
	

	Trial 4
	
	

	Trial 5
	
	

	Trial 6
	
	

	Trial 7
	
	

	Trial 8
	
	

	Trial 9
	
	

	Trial 10
	
	

	FINAL
	
	


Reflection: 
Which change in your prototype was most effective? Why do you think it worked?
Which change in your prototype was the least effective? Why do you think it did not work?
STUDENT NAME _________________________________
DATE__________________
Classroom Data Table
	Group Name
	Number of salmon caught
	Number of bycatch caught

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


STUDENT NAME ___________________________________
DATE________________
For each salmon you catch, you gain 5 points. For every bycatch you catch, you lose 10 points. 
	
	# of salmon caught
	Total salmon points 
(number of salmon caught times 5)
	# of bycatch caught
	Total bycatch points 
(number of bycatch caught times -10)
	TOTAL POINTS
(salmon points + bycatch points)

	Trial 1 (ex.)
	6
	6*5=30
	1
	1*-10=-10
	30+-10=  20

	Trial 2
	
	
	
	
	

	Trial 3
	
	
	
	
	

	Trial 4
	
	
	
	
	

	Trial 5
	
	
	
	
	

	Trial 6
	
	
	
	
	

	Trial 7
	
	
	
	
	

	Trial 8
	
	
	
	
	

	Trial 9
	
	
	
	
	

	Trial 10
	
	
	
	
	

	FINAL
	
	
	
	
	


Reflection: 
Which change in your prototype was most effective? Why do you think it worked?
Which change in your prototype was the least effective? Why do you think it did not work?
What is an equation you could build that would help you to easily determine your final score, in as few steps as possible?
